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CONSTANTS
Planck’s constant h = 6.6 X 10734 Js, magnetic constant (permeability of free space)
Universal gas constant R = 8.31 J/(K-mol) Ho=41x10-7N/A2
Avogadro’s number Ny= 6.02Xx1023 particles/mol, speed of light in vacuum: 3.0 x 108 ?
Electron rest mass m, = 9.1093897 x 10~31kg acceleration due to gravity g = 10 22
S
density of water d = 1000 % threshold of hearing at 1 kHz: I, = 10712 %
Coulomb constant k = 8.99..x 10°Nm?C~2 A=nr? S=4nr? V= %nr3

Boltzmann constant k = 1.38 X 10723 m?kgs™2K™!  ng;, = 1.00, nyqeer = 1.333



